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1. A racecar comes to a stop with a constant acceleration of —11.0 mjs»/”i‘fﬂae car was going +55 m/s, how
many meters will the car travel as it comes to a complete stop?

AP all is thrown vertically with a velocity of +25.0 m/s.

____a. How high does it rise? y; RPN s Q
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ng does it take to reach original height AFTER it reaches its highest point?
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3. The ball in the diagram below starts at origin from rest and rolls through the frictionless course as shown
below, coming to rest at the far right on the diagram.

a. Draw a motion map on the diagram for movement of the ball from beginning to end of motion.

b. An acceleration vector diagram for any part of the motion the object accelerates.

c. The three motion graphs.
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4. The graph below represents the motion of an object P i
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a. At what point(s) on the graph above is the velocity of the object zero? Explam
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b. Over what intervals on the graph above is the object’s velocity increasing? Explain.
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¢. Over what intervals on the graph above is the object’s velocity decreasing? Explain.
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5. For each of the graphs shown below, draw the corresponding motion graphs. Then, write a brief statement
the accurately summarizes the motion of the object

d. At what point(s) on the graph above is the object changing direction? Explain. B
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True/False: Determine if each is True or False and give a brief explanation of why?
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| 6. The horizontal velocity of a projectile is constant /b fuoizantml ,
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- 7. The vertical acceleration of a projectile is 0 m/s* ¥+ treel agglombn

F 8. When 2 bullets are simultaneously fired horizontally and dropped frmF the same height, the fired bullet
remains in the air for more time fotn & fbected by G/ 7y vEhEATS nde 5o ‘/"7

T 9. The magnitude of vertical displacement of a projectile launched horizontally is equwale%o its hei/%ht
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T”' 10. The curved path of a projectile is parabolic ,j,.,( ,, ilesid-ion bt NG jpprizon el RS LB

f” - 11. Gravity affects both the vertical and horizontal motion of a projectile  /Jnty yotef

-f~ 12. Projectiles move vertically and horizontally simultaneously gh-n N f%/aéf/ ‘o
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| 13. When air resistance is ignored, the mass of a projectile does not impact its motion 5™ ’
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15. Draw and complete a kinematic chart (3 columns) for a projectile launched at an angle: '

16. A student rides in a wagon that is moving forward at a constant velocity. The student throws a tennis ball
straight up into the air. Where does the tennis ball land?
a._ In front of the wagon

%
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d.

Explain your reasoning: [ ienni? Ll M{/,«mwm g

In the wagon
Behind the wagon
Cannot be determined
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17. Two golf balls of identical mass are rolled off of the edge of'a 1.5 m tall table. One of the golf balls lands
0.5 m from the edge of the table while the other lands 1.0 m from the edge of the table. How could this
have occurred? e Wﬂ’f s lancds (O Aoom T bable s oo WG 4T p hsher lypviaatra | gpeed
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18. A bowling ball and a tennis ball are both rolled off the edge of a table and land on the floor. If both
objects roll of the edge of the table at 4.5 m/s. Compare the values for each of the following variables and

explain your reasoning: 2 i Budl _ Al
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a. Horizontal displacement: = B
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b. Vertical displacement: -1
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c. Vertical acceleration: — A i /{
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d. Horizontal acceleration: LS e
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f.  Final vertical velocity: bosed on /‘“7 rTE
g. Final horizontal velocity: (sl , Sl 5
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Sketch below velocity vs, time *fmgzsé% for mah rock.
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19. Observe the dlagram bel()w and answer:
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